Ex.! Sketch the surfuce
xt+ 4y = gy
horizontal trace (2= ¢)

1S an EHi,uc, iudependent

|' of Z.
1 g
Ex} 5'( elch

Lhe sveface

Z: -yt Q parabolu

Ly'ind gr



Ex 3
Sketeh xt+y?® -4zt = ¥

For each 2' Lt he horiganial

{rau is o tylinder of

redivs Of radivs V Yay3t

Eoach vertice! {rece
is ¢ hyperbola

(y=c)

x*-yzt: 4 -t



Ex 4 Sketch th, sorface
Xta 93 49 < 4

Look at the horizewtal
troce Xt-l-y’-" y-42?

This is a circle if 2% 4!

This ¢ Gn
- e":PSﬁJ.



Ex. § Sketch

xt -y‘, g = - 16

If we losk ol the y-trace,
we scf Xt4 422 = yi-le.

I{ Y2 ¢ 16, {hen theer is

NO SoLuTion, Bui if yYi>ie

Lthe 4rac

is an ellipse A—

This is
& hyperhblosi o‘f 2 sheets



Ex. ¢C. Skeich

Z2- x*-ytryx -7 = 0
2= X:HX +y: + 7
2= (x-2) + Y +7-4
Z ¢ (x-2)°+ Y +3

This i3 &
3 pavabolsiod

2 with verteyx

at (2, 0, 3)



Ex. Find the equetion

for the points that

ave equidistent from

{-1,0,0) ang Lhe plane X=1
d, %

\/(X"‘}t* 71*!‘2 = ] « X

2
1‘1_?1,: ]*2)"‘"?‘

A poraholoid

with axis =

neg - % axis



_yxe yr+ 22

Mistake: Shovld 3¢
arsvnd nNneY. ~x-oxis

Ex Sketch
xz-yz* z"-Qx-QY“z;:“g
(:t*z"??; *"‘f\/fl)l* (!__')‘



8.t

Note V[Xu)zvr y2e+ 72

" F
st of (%, y 2y t0 (-1,0
4 00’

and 2
-x = digd. of (2 y, 2}

to Flonc xX= 1.



» (X'Z  ; 2
o f2-1)2s tya) -



E}. ). Fin‘ Paramatrtc

eljuuiicns of line thoel
liecs interseclion of

X+Ya+2=1 X+2y+32:2
R Py

ﬁ,’ $r,0,00 rlzs(l,z‘.;)

lo



J
Musi ‘Flnd & rohd‘ in L

Set Zr o

x‘*y‘: i } y‘:" e
X+2y = 2

2 (6,1,0) is in L.

s ey, 29 = (0,1,0) 4-{(!,-2,:)

-~ x:=4¢ yv=1-2t, z: 1
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Ex. Find the saddle raaui

the surface
2
Yx "214'3)(-22 + ¥y = Y

Yix)® - (z241)" + HY
s 4+ 4 -1 = 7

5 1
Yy = (ze1) = Hlxn) +7

Cepter is ot ("“')",?;"')



&
Ext A force s given by

b i il b
6 vecdor Fe 3i¢uj+5k
ond moves a pacrkicle from

the point P(2,01 0} 4s

@ (4,6,2) | Fina the work dent.

Pa - <2, 5 z> W: ED

W= {3u.5)-{252)

2 G420 4106 = 3¢
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Ex§  Find dhe Scalor projection

Gnd vector Rrejection of

E =L, 4) onte G (3;),)

F ool - = ¥ -l
al‘
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Ey 0. Find the Sine of Lthe

anjle hedwean -\;" (?-,", 3)

end w=%2.1).

3 2 !
| 2+%): Vs 99+ = Vier - 47
He
743
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Curves down in ¥
9

Lurves vp g

X

R
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Ex 2, Fina the plane thet
contoing
P23y Que,-,4) R4, 8y

>

PQ = (1,-3, 1) PR=(3-1, -3
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Note thet (/’2';) i

Y, plane

5(x-1) + 3(y-2) + 4(2-¢)
=0



